Hess's Law Worksheet Name:

1. Calculate AH for the reaction 4 NH; (g) + 5 O (g) = 4 NO (g) + 6 H>O (g),
from the following data.

Nz (g) + 02 (g) = 2 NO () AH =-180.5 kJ
N, (g) + 3 H, (g) —> 2 NH; (g) AH = -91.8 kJ
2 Hz (g) + O2 (g) — 2 H>0 (g) AH = -483.6 kJ

2. Find AH” for the reaction 2ZHax(g) + 2C(s) + Oz(g) = C>HsOH(l), using the
following thermochemical data.

C>HsOH (1) + 2 Oz (g) — 2 CO- (g) + 2 H20 (1) AH = -875 kJ
C (s) + Oz (g) — COs (£) AH = 39451 kJ
H> (g) + V202 (g) > H2O (D) AH = -285.8 kJ

3. Calculate AH for the reaction CH, (g) + NH; (g) = HCN (g) + 3 H> (g), given:

Nz (g) +3Hz(g) —> 2 NH; (2) AH =-91.8 kJ
C (s)+2 Hs (2) > CHa (2) AH =-74.9 kJ

Ha (2) +2C(s) + N2 (g) - 2 HCN (g) AH = +270.3 kJ



